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To factor a whole number means to express the whole number as 
a product of 2 or more whole numbers.  Here are some examples.

6 = (2)(3) 35 = (5)(7) 91 = (7)(13)

The last example illustrates an important point.  Your ability to 
factor depends on your understanding of multiplication facts.  
The first 2 problems are ‘easy’ because they involve common 
multiplications facts.  Factoring algebraic expressions is an 
important algebra skill.  Each ‘factoring pattern’ you will learn 
will depend on a related ‘multiplication pattern’. 
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a = -7 b = 2
x2



Algebra I  Class Worksheet #1  Unit 11

14.   (x – 6)(x – 3) = _________________

15.   (x + 8)(x + 2) = _________________

16.   (x – 7)(x + 2) = _________________

Perform the indicated operations.

Use this pattern.

a = -6 b = -3
x2 – 9x + 18

b + a = -9 ab = 18

(x + a)(x + b) = x2 + (b + a)x + ab

a = 8 b = 2
x2 + 10x + 16

b + a = 10 ab = 16

a = -7 b = 2
x2

b + a =



Algebra I  Class Worksheet #1  Unit 11

14.   (x – 6)(x – 3) = _________________

15.   (x + 8)(x + 2) = _________________

16.   (x – 7)(x + 2) = _________________

Perform the indicated operations.

Use this pattern.

a = -6 b = -3
x2 – 9x + 18

b + a = -9 ab = 18

(x + a)(x + b) = x2 + (b + a)x + ab

a = 8 b = 2
x2 + 10x + 16

b + a = 10 ab = 16

a = -7 b = 2
x2

b + a = -5



Algebra I  Class Worksheet #1  Unit 11

14.   (x – 6)(x – 3) = _________________

15.   (x + 8)(x + 2) = _________________

16.   (x – 7)(x + 2) = _________________

Perform the indicated operations.

Use this pattern.

a = -6 b = -3
x2 – 9x + 18

b + a = -9 ab = 18

(x + a)(x + b) = x2 + (b + a)x + ab

a = 8 b = 2
x2 + 10x + 16

b + a = 10 ab = 16

a = -7 b = 2
x2 –

b + a = -5



Algebra I  Class Worksheet #1  Unit 11

14.   (x – 6)(x – 3) = _________________

15.   (x + 8)(x + 2) = _________________

16.   (x – 7)(x + 2) = _________________

Perform the indicated operations.

Use this pattern.

a = -6 b = -3
x2 – 9x + 18

b + a = -9 ab = 18

(x + a)(x + b) = x2 + (b + a)x + ab

a = 8 b = 2
x2 + 10x + 16

b + a = 10 ab = 16

a = -7 b = 2
x2 – 5x

b + a = -5



Algebra I  Class Worksheet #1  Unit 11

14.   (x – 6)(x – 3) = _________________

15.   (x + 8)(x + 2) = _________________

16.   (x – 7)(x + 2) = _________________

Perform the indicated operations.

Use this pattern.

a = -6 b = -3
x2 – 9x + 18

b + a = -9 ab = 18

(x + a)(x + b) = x2 + (b + a)x + ab

a = 8 b = 2
x2 + 10x + 16

b + a = 10 ab = 16

a = -7 b = 2
x2 – 5x

b + a = -5



Algebra I  Class Worksheet #1  Unit 11

14.   (x – 6)(x – 3) = _________________

15.   (x + 8)(x + 2) = _________________

16.   (x – 7)(x + 2) = _________________

Perform the indicated operations.

Use this pattern.

a = -6 b = -3
x2 – 9x + 18

b + a = -9 ab = 18

(x + a)(x + b) = x2 + (b + a)x + ab

a = 8 b = 2
x2 + 10x + 16

b + a = 10 ab = 16

a = -7 b = 2
x2 – 5x

b + a = -5



Algebra I  Class Worksheet #1  Unit 11

14.   (x – 6)(x – 3) = _________________

15.   (x + 8)(x + 2) = _________________

16.   (x – 7)(x + 2) = _________________

Perform the indicated operations.

Use this pattern.

a = -6 b = -3
x2 – 9x + 18

b + a = -9 ab = 18

(x + a)(x + b) = x2 + (b + a)x + ab

a = 8 b = 2
x2 + 10x + 16

b + a = 10 ab = 16

a = -7 b = 2
x2 – 5x

b + a = -5 ab =



Algebra I  Class Worksheet #1  Unit 11

14.   (x – 6)(x – 3) = _________________

15.   (x + 8)(x + 2) = _________________

16.   (x – 7)(x + 2) = _________________

Perform the indicated operations.

Use this pattern.

a = -6 b = -3
x2 – 9x + 18

b + a = -9 ab = 18

(x + a)(x + b) = x2 + (b + a)x + ab

a = 8 b = 2
x2 + 10x + 16

b + a = 10 ab = 16

a = -7 b = 2
x2 – 5x

b + a = -5 ab = -14



Algebra I  Class Worksheet #1  Unit 11

14.   (x – 6)(x – 3) = _________________

15.   (x + 8)(x + 2) = _________________

16.   (x – 7)(x + 2) = _________________

Perform the indicated operations.

Use this pattern.

a = -6 b = -3
x2 – 9x + 18

b + a = -9 ab = 18

(x + a)(x + b) = x2 + (b + a)x + ab

a = 8 b = 2
x2 + 10x + 16

b + a = 10 ab = 16

a = -7 b = 2
x2 – 5x –

b + a = -5 ab = -14



Algebra I  Class Worksheet #1  Unit 11

14.   (x – 6)(x – 3) = _________________

15.   (x + 8)(x + 2) = _________________

16.   (x – 7)(x + 2) = _________________

Perform the indicated operations.

Use this pattern.

a = -6 b = -3
x2 – 9x + 18

b + a = -9 ab = 18

(x + a)(x + b) = x2 + (b + a)x + ab

a = 8 b = 2
x2 + 10x + 16

b + a = 10 ab = 16

a = -7 b = 2
x2 – 5x – 14

b + a = -5 ab = -14



Algebra I  Class Worksheet #1  Unit 11

14.   (x – 6)(x – 3) = _________________

15.   (x + 8)(x + 2) = _________________

16.   (x – 7)(x + 2) = _________________

Perform the indicated operations.

Use this pattern.

a = -6 b = -3
x2 – 9x + 18

b + a = -9 ab = 18

(x + a)(x + b) = x2 + (b + a)x + ab

a = 8 b = 2
x2 + 10x + 16

b + a = 10 ab = 16

a = -7 b = 2
x2 – 5x – 14

b + a = -5 ab = -14



Algebra I  Class Worksheet #1  Unit 11

14.   (x – 6)(x – 3) = _________________

15.   (x + 8)(x + 2) = _________________

16.   (x – 7)(x + 2) = _________________

Perform the indicated operations.

Use this pattern.

a = -6 b = -3
x2 – 9x + 18

b + a = -9 ab = 18

(x + a)(x + b) = x2 + (b + a)x + ab

a = 8 b = 2
x2 + 10x + 16

b + a = 10 ab = 16

a = -7 b = 2
x2 – 5x – 14

b + a = -5 ab = -14



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a =

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b =

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2

b + a =

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2

b + a = -5

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 –

b + a = -5

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x

b + a = -5

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x

b + a = -5

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x

b + a = -5

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x

b + a = -5 ab =

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x

b + a = -5 ab = -24

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x –

b + a = -5 ab = -24

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a =

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b =

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6
x2

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6
x2

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6
x2

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6
x2

b + a =

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6
x2

b + a = -8

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6
x2 –

b + a = -8

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6
x2 – 8x

b + a = -8

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6
x2 – 8x

b + a = -8

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6
x2 – 8x

b + a = -8

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6
x2 – 8x

b + a = -8 ab =

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6
x2 – 8x

b + a = -8 ab = 12

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________

Perform the indicated operations.

a = 3 b = -8
x2 – 5x – 24

b + a = -5 ab = -24

Use this pattern.

a = -2 b = -6
x2 – 8x +

b + a = -8 ab = 12

(x + a)(x + b) = x2 + (b + a)x + ab



Algebra I  Class Worksheet #1  Unit 11

17.   (x + 3)(x – 8) = _________________

18.   (x – 2)(x – 6) = _________________
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